Write the standard form of the equation of each line given the slope and y-intercept. Vq)( ‘f’B = C
a1 n$

43) Slope =4, y-intercept = 3 L
) Slope y-1ntercep 44) Slope=5, y-intercept = —1 o

Do Now: #s 45 and 47 (this is from Friday night’s hw
packet)

9 1
45) Slope = - E’ y-intercept = 4 46) Slope = g, y-intercept = —4

_ & Sy _ dy
= Ly oy & S it

2By G

48) Slope = -5, y-int t=3
47) 510pe=Z, y-intercept = 1 ) Slope y-intercep

9

 (Feey=)

Werite the slope-intercept form of the equation of the line through the given point with the given slope.

% E—)H’\ & dope- infuupt

49) through: (—1, 1), slope =1 50) through: (2, 5), slope =2

3 52) th h: (5, 1), slope =-1
51) through:(l,—l), slope=—§ ) throug ( ) slope
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(3dchth?® Y x+h) - 3x -3h +5
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x> €3 h + 3xh A ek’ ~3x—3h +5~
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(b)) Y=x+a3D

| y
X:j +20
Since He_inverse 1s o bnchin,
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€)Y Y+3= 2(X=3)

m=ct
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Fes) = gllxes )= /
Sxns-g = rs)es * Need B Shou)
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8. Graph
a f(-\')z_?lx+2
m=-%5 b=>
b. f(x)
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12. Express each of the following below as composites of two or more of the following:

a(x)=x-1 g(x)=x" b(x)=x+2 h(x):l
X

o(x) = 4x k)= )=+

(a) 4x—1 (g) x+1 (m) xg = #X/q
a (elv)) a(b()) w blalx)) L (am)
(b) 4x—4 (h) x=2 (n) %

o(a) a{a(x)) fee

h (Z(b(x)))

(c) 4x* (i) x* +1

(o) %/_x—l-l-Z
e () (b))
or b(ﬁ (“X\) h (b (K(X))

Plew) ([ b))
o/ (b lalgtx)))

(e) (x*=1) (k) ﬁ
F(rGw)) h@m})
(f) 16x—4 () x+1
0N) y,(a(b(x\)

o&b(o\[ﬂ)



